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3. The waveforms of FIGURE 2 were produced by the circuit of FIGURE 3.
In FIGURE 3, LAP1 is a Laplace block transfer function.

Match each waveform A,B, C and D with its causing transfer function
(1), (2), (3) and (4) given in TABLE A.

Input
10 - , /
0.8 =
g 7TTN
FER O j’f o »:,
g 0.6 T é}f (s-d' ‘.\ - -‘"""-
04 : /? ‘ f \“h\ §
PN TR 1
'/ N LY X =i = _
o LZ.
0 2 4 6 8
Time/Secs ' 2Secs/div
FIG. 2
LAP1
r\\ o LAP1-QUTP (1) (72 + 2% +°2)
e 2) | (s"2+s+2) _

Vi-pos ) (3) | 1/(s72 + 0.5%s + 2)

W1 1 ' iK (4) 1H(s"2 + 0.4%s + 4)
A [JRi1
TABLE A
1
FIG. 3
Teesside University Open Leaming © Teesside University 2011

{Engineering)




